]

4K =

pra

:ﬁ.

E:_
<=

=
A

1RO 1R/KAE

X 35

\)\(




<FEEH>

LR (B (Fih) SGHBRE - - - - - - - - EEH-1
FFRML o ¢ o o o o o e e e e e e e e e e e FE1H-8
R R FHEH-11
Wil (ML) « o ¢ o v e e e e e e e e e e F£1H-13
PeBiuh (Eh) o ¢ ¢ o o 0 o v e e e e e e e F2E1H-16
=2 T P FE1-21
R I R T F2£1H-23
ez R P S S F£1H-25
FYXHEUL o e e e e e e e e e e e e e FEH-27
BT T F£TH-29
BRI o o o e e e e e e e e e e e e e F2£1H-31
L o R T S #£T-33
N R R T T #%E1H-35
o T T T T FEH-37
UL () ¢ 0 v v v v e e e e e e e e e e e F£71-39
= S F2ETf-41
R asvics i S
JEDHL « v o e e e e e e e e e e e e e e e e F2E1H-45
JINHEL o e e e e e e e e e e e e e e e e e e e FE-47
ZRILAL 0 0 0 e e e e e e e e e e e e e e FE1H-49
SE ML e e e e e e e e e e e e e e e e e e e FEH-51
ONEDTAM ¢ 0 o o v e v e e e e e e e e F2E7H-53

B R T T T FE£TH-55

NP/ d


412485
線

412485
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=it L FR Kotk ith) B&E

B KL FWL 88.0[(m)

LS EL 78.5((m)

1=8 7K % - H=FWL-EL 9.5((m)

BETKE:V 50,610|(m3)

BRAFHE(Costa):Qp| 238.95|(m3/s)  |Qp=325(H-V)*#

TS A 0.6120|km2

MKETE:A2 0.0148 [km2

r=a/(t"+b)

& AR S &R =%

FErsEE N 0.848

ERRERa 10953.08

FErmsEE=R b 48.8
R-2Tr1-r2h 0 FE

W HA R 7E B ZE F )t 37| h(ZIRN B KSRYIR
LAKH
F-2Dr1-r2MEH0

REEERR tc 374 B EERMEER
HYYIBT

B ERERIAOREREE r 156.1 [(mm/h)

HAKREE—Y:Q 18.0[(m3/s) |1/3.6-f-r-A

EREHHKRE1.2Q 21.6|(m3/s)

Bl [RIBRE|HKRE|[LEMRRE
(min)  [Q1(m3/s)| Q2(m3/s)[Q1+Q2(m3/s)
0 238.95 18.0 257.0

1 180.00 17.8 197.8
2 135.60 17.6 153.2
3 102.15 17.4 119.6
4 76.95 17.2 94.2
5 57.96 171 75.0
6 43.67 16.9 60.5
7 32.89 16.7 49.6
8 24.78 16.5 413
9 18.67 16.3 35.0
10 14.06 16.1 30.2
1 10.59 15.9 26.5
12 7.98 15.7 23.7
13 6.01 15.5 21.6
14 4.53 15.4 19.9
15 3.41 15.2 18.6
16 2.57 15.0 17.5
17 1.94 14.8 16.7
18 1.46 14.6 16.1
19 1.10 14.4 15.5
20 0.83 14.2 15.0
21 0.62 14.0 14.6
22 0.47 13.8 14.3
23 0.35 13.6 14.0
24 0.27 13.5 13.7
25 0.20 13.3 13.5
26 0.15 13.1 13.2
27 0.11 12.9 13.0
28 0.09 12.7 12.8
29 0.06 12.5 12.6
30 0.05 12.3 12.4
31 0.04 121 12.2
32 0.03 11.9 12.0
33 0.02 11.8 11.8
34 0.02 11.6 11.6
35 0.01 114 11.4
36 0.01 11.2 11.2

A
A
e

F-1 REFRBIETRIEFEERC

FHOIRAE C | m#Ekm2) i &
patiatii 70 0.0290

L1 290 0.2246

7K H 100 0.0486

Pl 200 0.2910 |Zr74;

S 70 0.0188

Rt 0.6120

[oE i) 215
FH DR HE f [iaEi s &
T2 1.00 0.0290 A AR E 7o 60 M fi ) P33
(Lot 0.80 | 0.2246

7K H 0.75 | 0.0486

b3 0.53 | 0.2910

Sl 0.85 | 0.0188

ARt 0.6120

(o) 0.68

R-2 HOKEERE

REOHZEE ERRE |AYRFRE oms | POKEIERSRS ~
(%) ri(mm/h) re=f=r,(mm/h) re tc(min) 2 e
1 370 156.1 106.15 0.195 37.63 155.4 0.7
2 371 156.0 106.08 0.195 37.63 155.4 0.6
3 37.2 155.9 106.01 0.195 37.63 155.4 0.5
4 373 155.8 105.94 0.196 37.83 155.2 0.6
5 374 155.7 105.88 0.196 37.83 155.2 0.5
6 375 155.5 105.74 0.196 37.83 155.2 0.3
7 37.6 155.4 105.67 0.196 37.83 155.2 0.2
8 37.7 155.3 105.60 0.196 37.83 155.2 0.1
9 37.8 155.2 105.54 0.196 37.83 155.2 0.0
10 37.9 155.1 105.47 0.196 37.83 155.2 -0.1
11 38.0 155.0 105.40 0.196 37.83 155.2 -0.2
R-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 370 156.1 156.1 156.1 18.0
2 74.0 125.5 251.0 94.9 11.0
3 111.0 106.3 318.9 67.9 7.8
4 148.0 928 371.2 523 6.0
5 185.0 82.7 413.5 423 4.9
6 222.0 74.8 448.8 35.3 4.1
7 259.0 68.4 478.8 30.0 3.5
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=it & ¥R TR T -3

BB FWL (m)

LS EL (m)

=8 IKi%E : H=FWL-EL 10.5|(m)

#Erk=:Vv 17,300[(m3)

FERHRHE=(Costa): Qp 158.77|(m3/s)  [Qp=325(H-V)**

JRigmiE:A 0.6490|km?2

/K ETE: A2 0.0033|km2

r=a/(t"+b)

1 F R = £181Fr =5

ErRsEE KN 0.848

ErREE R 10953.08

ErsEERX b 488
F-2Tri-r2hoh &

AR E B BF et 38|% Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 38(4 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 155|(mm/h)

HKFEE—Y:Q 19.0{(m3/s) |1/36-f-r-A

REHEKGREN.2Q 22.8|(m3/s)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 158.77 19.0 159.8
1 91.54 18.8 92.5
2 52.78 18.6 53.8
3 30.43 18.4 314
4 17.55 18.2 185
5 10.12 18.0 11.1
6 5.83 17.8 6.8
7 3.36 17.6 43
8 1.94 174 29
9 1.12 17.2 20
10 0.64 17.0 1.6
11 0.37 16.8 1.3
12 0.21 16.6 1.1
13 0.12 16.4 1.0
14 0.07 16.2 1.0
15 0.04 16.0 0.9
16 0.02 15.8 0.9
17 0.01 15.6 0.9
18 0.01 154 0.9
19 0.00 15.3 0.8
20 0.00 15.1 0.8

FLERMRREBE EREMOHKRELZELSIVTER

F-1 RHEGRBIERE RS ERC

THiDHRRE C | ®fi(km2) i &
7ot 70 0.0323
(Lot 290 | 0.2523
KH 100 0.0486
Hkh 200 0.2970
£ 70 0.0188
‘it 0.6490
faf ES-25) 217
IR RE f i L
Pat;akiii! 1.00 | 0.0323 AFHRS T2 MR ) P33
(L 0.80 | 0.2523
KH 0.75 0.0486
Bk 0.53 | 0.2970
£ 0.85 | 0.0188
‘it 0.6490
faf ESF-25) 0.68

&2 HOKEERR]

REOTEREl GAWGRE |(HVMEFRE s | FOKEIEER] _
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 38.0 155.0 105.40 0.196 38.67 1543 0.7
2 38.1 154.9 105.33 0.196 38.67 1543 0.6
3 38.2 154.8 105.26 0.196 38.67 1543 0.5
4 38.3 154.7 105.20 0.196 38.67 1543 04
5 38.4 154.6 105.13 0.196 38.67 1543 0.3
6 38.5 154.5 105.06 0.196 38.67 1543 0.2
7 38.6 154.4 104.99 0.196 38.67 1543 0.1
8 38.7 1543 104.92 0.196 38.67 1543 0.0
9 38.8 154.2 104.86 0.196 38.67 1543 -0.1
10 38.9 1541 104.79 0.196 38.67 1543 -0.2
11 39.0 153.9 104.65 0.196 38.67 1543 -0.4
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 38.0 155 155.0 155.0 19.0
2 76.0 1243 248.6 93.6 115
3 114.0 105 315.0 66.4 8.1
4 152.0 91.6 366.4 514 6.3
5 190.0 815 407.5 411 50
6 228.0 73.7 4422 34.7 43
7 266.0 67.3 4711 28.9 35
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=& A -3

BB K 5L : FWL 99.8|(m)

LS EL 89.0{(m)

=8 IKi%E : H=FWL-EL 10.8|(m)

#Erk=:Vv 115,000|(m3)

KTt = (Costa): Qp 356.11|(m3/s)  |Qp=325(H-V)°*

JRigmiE:A 0.2790|km2

/K ETE: A2 0.0180|km2

r=a/(t"+b)

1 F R = £181Fr =5

ErRsEE KN 0.848

ErREE R 10953.08

ErsEERX b 488
F-2Tri-r2hoh &

AR E B BF et 38|% Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 38(4 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 155|(mm/h)

HKFEE—Y:Q 9.7|(m3/s) [1/36-f-r-A

REHEKGREN.2Q 11.64|(m3/s)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 356.11 9.7 365.8

1 295.73 9.6 305.3
2 24559 9.5 255.1
3 203.94 94 213.3
4 169.36 9.3 178.7
5 140.65 9.2 149.9
6 116.80 9.1 125.9
7 97.00 9.0 106.0
8 80.55 8.9 89.5
9 66.89 8.8 75.7
10 55.55 8.7 64.3
11 46.13 8.6 54.7
12 38.31 8.5 46.8
13 31.81 84 40.2
14 26.42 8.3 34.7
15 21.94 8.2 301
16 18.22 8.1 26.3
17 15.13 8.0 231
18 12.56 79 20.5
19 10.43 78 18.2
20 8.67 1.7 16.4

A
A
e

F-1 RHEGRBIERE RS ERC

THiDHRRE C | ®fi(km2) i &
JitoXii 70 0.0180 R FHE R T 7200 M i 1 P33
(Lot 290 | 0.2610
7KH 100
M 200
E 70
‘it 0.2790
Taf I 276
IR RE f i L
Pat;akiii! 1.00 0.0180 AFHRS T2 MR ) P33
(L 0.80 0.2610
KH 0.75 0.0000
Bk 0.53 | 0.0000
£ 0.85 [ 0.0000
‘it 0.2790
Taf I 0.81

F&-2 HOKEERR]

REOTEREl GAWGRE |(HVMEFRE s | FOKEIEER] _
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 38.0 155.0 125.55 0.184 38.35 154.6 04
2 38.1 154.9 125.47 0.184 38.35 154.6 0.3
3 38.2 154.8 125.39 0.184 38.35 154.6 0.2
4 38.3 154.7 125.31 0.184 38.35 154.6 0.1
5 38.4 154.6 125.23 0.184 38.35 154.6 0.0
6 38.5 154.5 125.15 0.184 38.35 154.6 -0.1
7 38.6 154.4 125.06 0.185 38.56 154.4 0.0
8 38.7 1543 124.98 0.185 38.56 154.4 -0.1
9 38.8 154.2 124.90 0.185 38.56 154.4 -0.2
10 38.9 1541 124.82 0.185 38.56 154.4 -0.3
11 39.0 153.9 124.66 0.185 38.56 154.4 -0.5
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 38.0 155 155.0 155.0 9.7
2 76.0 1243 248.6 93.6 5.9
3 114.0 105 315.0 66.4 42
4 152.0 91.6 366.4 514 3.2
5 190.0 815 407.5 411 2.6
6 228.0 73.7 4422 34.7 22
7 266.0 67.3 4711 28.9 1.8
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=& Tith -3

BB K 5L : FWL 80.0|{(m)

LS EL 72.5((m)

=8 IKi%E : H=FWL-EL 7.5|(m)

WETKE:V 25,000{(m3)

= RFHE=(Costa): Qp 160.9((m3/s)  |Qp=325(H-V)**?

JRigmiE:A 0.0830|km?2

/K ETE: A2 0.0070|km2

r=a/(t"+b)

1 F R = £181Fr =5

ErRsEE KN 0.848

ErREE R 10953.08

ErsEERX b 488
F-2Tri-r2hoh &

AR E B BF et 28|45 Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 28(4> L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 166.8{(mm/h)

HKFEE—Y:Q 3.2|(m3/s) [1/36-f-r-A

REHEKGREN.2Q 3.84|(m3/s)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 160.90 3.2 164.1
1 109.36 3.2 112.5
2 74.33 3.1 715
3 50.52 3.1 53.6
4 34.33 3.0 374
5 23.34 3.0 26.3
6 15.86 3.0 18.8
7 10.78 2.9 13.7
8 7.33 2.9 10.2
9 498 2.8 7.8
10 3.38 2.8 6.2
11 2.30 2.8 5.1
12 1.56 2.7 43
13 1.06 2.7 3.7
14 0.72 2.7 34
15 0.49 2.6 3.1
16 0.33 2.6 29
17 0.23 2.5 2.8
18 0.15 2.5 2.6
19 0.10 2.5 2.6
20 0.07 24 25

.

F-1 RHEGRBIERE RS ERC

THiDHRRE C | ®fi(km2) i &
pat:o¥iich 70 0.0070 AR AR 7o M i | P33
(Lot 290 | 0.0760
7KH 100
M 200
E 70
‘it 0.0830
Taf I 271
IR RE f i L
Pat;akiii! 1.00 0.0070 AFHRS T2 MR ) P33
(L 0.80 0.0760
KH 0.75 0.0000
Bk 0.53 | 0.0000
£ 0.85 [ 0.0000
‘it 0.0830
Taf I 0.82

F&-2 HOKEERR]

REOTEREl GAWGRE |(HVMEFRE s | FOKEIEER] _
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 28.0 166.8 136.78 0.179 28.06 166.7 0.1
2 281 166.7 136.69 0.179 28.06 166.7 0.0
3 28.2 166.5 136.53 0.179 28.06 166.7 -0.2
4 28.3 166.4 136.45 0.179 28.06 166.7 -0.3
5 284 166.3 136.37 0.179 28.06 166.7 -0.4
6 285 166.1 136.20 0.179 28.06 166.7 -0.6
7 28.6 166.0 136.12 0.179 28.06 166.7 -0.7
8 28.7 165.9 136.04 0.179 28.06 166.7 -0.8
9 28.8 165.8 135.96 0.179 28.06 166.7 -0.9
10 28.9 165.6 135.79 0.179 28.06 166.7 =11
11 29.0 165.5 135.71 0.179 28.06 166.7 -1.2
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 28.0 166.8 166.8 166.8 3.2
2 56.0 138.3 276.6 109.8 2.1
3 84.0 119.5 3585 81.9 1.5
4 112.0 105.9 423.6 65.1 1.2
5 140.0 95.4 477.0 534 1.0
6 168.0 87 5220 45.0 0.9
7 196.0 80.1 560.7 38.7 0.7
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B [RERE|HEKRE|LEMNRRE
=it B (L) &% (min) | Q1(m3/s)| Q2(m3/s)[ Q1+Q2(m3/s)
B B KL FWL 89.4|(m) 0| 13451 0.9 135.4
LS EL 86.0{(m) 1| 10750 0.9 108.4
f=shith 7K %R - H=FWL-EL 3.4|(m) 2 85.91 0.9 86.8
RETKE:V 36,000{(m3) 3 68.65 0.8 69.5
BA7HE(Costa):Qp|  13451|(m3/s)  |Qp=325(H-V)** 4 54.87 0.8 55.7
TISEHE:A 0.0180|km2 5 4385 0.8 447
WKERE: A2 0.0110[km2 6 35.04 0.8 358
r=a/(t"+b) 7 28.00 0.8 288
HAREEAR =% 8 22.38 0.7 23.1
FERRER N 0.848 9 17.89 0.7 18.6
R ERa 10953.08 10 14.29 0.7 15.0
FERsREXDb 48.8 11 11.42 0.7 12.1

&-2Tr1-r2h0AK 12 9.13 0.7 9.8
MR E BIE Rt 10(% HICHN B L5RYIR
LAS 13 7.30 0.7 8.0
RAEEIERT : to 0|4 S AEI ARt 14 o8 07 65
HUIYUET 15 4.66 0.7 5.3
B ER R R DR FRIRE ¢ 196.1|(mm/h) 16 3.72 0.6 44
HAKREE—Y:Q 0.9|/(m3/s) |1/3.6+fr-A 17 2.98 0.6 36
itk E:.2Q 1.08|(m3/s) 18 2.38 0.6 3.0
19 1.90 0.6 25
20 1.52 0.6 2.1
21 1.21 0.6 18
22 0.97 0.6 16
23 0.78 0.6 14
24 0.62 0.6 12
25 0.50 0.6 1.1
26 0.40 05 0.9
27 0.32 05 0.9
28 0.25 05 0.8
29 0.20 05 0.7
30 0.16 05 0.7
. 31 0.13 05 0.6
. S | 32 0.10 05 0.6
F18 A0, 007!([“2 :\‘ 33 008 05 06
L T N sy 34 0.07 0.5 0.6
‘- 35 0.05 0.5 0.6
36 0.04 05 0.5
7 37 0.03 05 0.5
Sl 38 0.03 05 05
100 150m 39 0.02 05 05
| ) ' 40 0.02 05 0.5
41 0.01 05 0.5
42 0.01 05 0.5

F-1 RHEGRBIERE RS ERC

THiDHRRE C | ®fi(km2) i &
pat:o¥iich 70 0.0110 AR AR 7o M i | P33
(Lot 290 | 0.0070
7KH 100
M 200
E 70
‘it 0.0180

faf ES-25) 156

IR RE f i L
Pat;akiii! 1.00 | 0.0110 AFHRS T2 MR ) P33
(L 0.80 | 0.0070
KH 0.75 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0180

faf ESF-25) 0.92

F&-2 HOKEERR]

REOTEREl GAWGRE |(HVMEFRE s | FOKEIEER] _
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 10.0 196.1 180.41 0.162 10.44 195.2 0.9
2 10.1 195.9 180.23 0.162 10.44 195.2 0.7
3 10.2 195.7 180.04 0.162 10.44 195.2 0.5
4 10.3 195.5 179.86 0.162 10.44 195.2 0.3
5 10.4 195.3 179.68 0.163 10.51 1951 0.2
6 10.5 1951 179.49 0.163 10.51 1951 0.0
7 10.6 194.9 179.31 0.163 10.51 1951 -0.2
8 10.7 194.7 179.12 0.163 10.51 1951 -0.4
9 10.8 194.5 178.94 0.163 10.51 1951 -0.6
10 10.9 1943 178.76 0.163 10.51 1951 -0.8
11 11.0 1941 178.57 0.163 10.51 1951 -1.0
R-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 10.0 196.1 196.1 196.1 0.9
2 20.0 1781 356.2 160.1 0.7
3 30.0 164.2 492.6 136.4 0.6
4 40.0 152.9 611.6 119.0 0.5
5 50.0 143.4 717.0 105.4 0.5
6 60.0 135.2 811.2 94.2 0.4
7 70.0 1281 896.7 85.5 0.4
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B | RBRE|BKRE|LERIRRE £-1 RHEBIEREEEESRC
t=ith & F {EF (T ith) &% (min)  [Q1(m3/s)|Q2(m3/s)| Q1+Q2(m3/s) +HHokE | C | HERiKkn2) i *
B KL FWL 78.2|(m) 0| 152.29 143 1535 728 70 | 0.0127 BEHREH 7o P33
LS EL 69.8|(m) 1 95.77 142 97.0 (L 290 | 0.3184
f=8ith K% : H=FWL-EL 8.4|(m) 2 60.23 14.0 61.4 Nt 100
fRETKE:V 19,700|(m3) 3 37.88 13.9 39.1 B 200 | 0.0736
RATHE(Costa):Qp|  152.29|(m3/s)  |Qp=325(H-V)** 4 23.82 13.7 25.0 Hn 70 | 0.0363
I mEE:A 0.4410|km2 5 14.98 13.6 16.1 A 0.4410
WIKEE:A2 0.0052 [km2 6 9.42 13.4 10.6 i T 251
r=a/(t"+b) 7 5.92 133 7.1
A2 8URIFT =1 8 3.73 13.1 49 ok | f i %
RS E N n 0.848 9 2.34 130 35 728t 1.00 | 0.0127 RFHEEE T2 M 1 P33
R ENa 10953.08 10 147 12.8 2.6 (L 0.80 | 0.3184
s E Db 48.8 11 0.93 12.7 2.0 K 0.75 | 0.0000
DR EIE R 39| R A 12| 098] 125 17 e o] oom
LAR 13 0.37 12.4 14 g3 0.85 | 0.0363
R TE EIERFRE to 39(% f&zéo%r”gﬁ%o%r_;%o 1 023 123 13 kil 0
Ve 15 0.14 12.1 1.2 i E 0.76
B E R A DR FRGRE ¢ 153.9{(mm/h) 16 0.09 12.0 1.1
HKREE—Y:Q 14.3[(m3/s) |1/36+fr-A 17 0.06 1.8 1.1 K2 HKEIERR
BXEHHKIIEN.2Q 17.16((m3/s) 18 0.04 11.7 1.1 REOEZNMN AWAE |AYRMBE o K B EBERA ] -
19 0.02 115 1.0 t(43) rilmm/h)  |re=f+ry(mm/h) te(min)
20 0.01 1.4 1.0 1 39.0 153.9 116.96 0.189 39.62 1533 0.6
DB RREE L RAEORKHEEELIVTHE 2 39.1 153.8 116.89 0.189 39.62 153.3 05
3 39.2 153.7 116.81 0.189 39.62 1533 0.4
4 39.3 153.6 116.74 0.189 39.62 153.3 0.3
5 39.4 153.5 116.66 0.189 39.62 1533 0.2
6 395 1534 116.58 0.189 39.62 153.3 0.1
7 39.6 153.3 116.51 0.189 39.62 1533 0.0
8 39.7 153.2 116.43 0.189 39.62 153.3 -0.1
9 398 153.1 116.36 0.189 39.62 1533 -0.2
10 39.9 153.0 116.28 0.189 39.62 153.3 -0.3
11 40.0 152.9 116.20 0.189 39.62 1533 -0.4
&3 HKRE - AIAKEFER
t r In Q
i (min) (mm/h) nr (mm/h) (m3/s)
1 39.0 153.9 1539 1539 14.3
2 78.0 123 246.0 92.1 8.6
3| 1170 103.8 3114 65.4 6.1
4| 156.0 90.4 361.6 50.2 4.7
5/ 1950 80.4 402.0 404 38
6| 2340 72.6 435.6 336 3.1
7| 2730 66.3 464.1 285 2.7

HEH-1
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f-ith B SREHh =

& B KL : FWL 86.25|(m)

LS EL 80.20|(m)

1= ith 7K E : H=FWL—-EL 6.1|(m)

HETKE:V 13,000{(m3)

At E(Costa): Qp 111.71{(m3/s)  |Qp=325(H-V)**?

RIBmEE:A 0.3995|km?2

/K EFE: A2 0.0075|km?2

r=a/(t"+b)

E A=A (=331

PERusEER N 0.848

EREERa 10953.08

PERusEER Db 488
R-2Tr1-r2h0hFE

#ER R E B B At 38|% HIZIRN B ES5#Y IR
LAA
RK-2Dr1-r2M{EH0

REZNZERM tc 38|50 EBEERMEE
VST

I ERFEANDOMERREE v 155((mm/h)

HKFREE—Y:Q 13.1{(m3/s) |1/3.6+f-r-A

LiEHZFMRERFAZ ML, FI/KHWLE6.25mE Tk L. £Z12200
FHRERREERENTRALBIRL-EEEL. BIEREZEE,

=1 R RBrERIBFETEC

R R C | mffikm2) i &
T2 70 0.0075 AR 760 W fif 1 P33
(L 290 0.2821
JKH 100
Ak 200 0.0736
gl 70 0.0363 ERTINSIEN - Nt
Aat 0.3995
fof E 4 249

R R f [ i &
7o 1.00 0.0075 AR 700 W fif 1 P33
(L 0.80 0.2821
K H 0.75 0.0000
Ak 0.53 0.0736
il 0.85 0.0363
At 0.3995
T F ) 0.76

R-2 HOKEERRE

B | RIBRE | KRE|LEXMRRE
(min)  [Q1(m3/s)| Q2(m3/s)|Q1+Q2(m3/s)
0 111.71 131 124.8
1 66.71 13.0 79.7
2 39.83 12.8 52.7
3 23.79 12.7 36.5
4 14.20 12.6 26.8
5 8.48 124 20.9
6 5.07 12.3 17.3
7 3.02 121 15.2
8 1.81 12.0 13.8
9 1.08 11.9 12.9
10 0.64 11.7 124
11 0.38 11.6 12.0
12 0.23 11.5 11.7
13 0.14 11.3 11.5
14 0.08 11.2 11.3
15 0.05 11.0 111
16 0.03 10.9 10.9
17 0.02 10.8 10.8
18 0.01 10.6 10.6
19 0.01 10.5 10.5
20 0.00 10.4 10.4

\ Bt BRI B R
AN y i m— \. ‘ =y

REQIENM| ERRE | AHRERE gy |PUKEERSRR ~
) r(mm/h)  |re=fer,(mm/m)| to(min) 2 e
1 38.0 155.0 117.80 0.188 38.26 154.7 0.3
2| 381 154.9 117.72 0.188 38.26 154.7 0.2
3| 382 154.8 117.65 0.188 38.26 154.7 0.1
4| 383 154.7 117.57 0.189 38.46 1545 0.2
5| 384 154.6 117.50 0.189 38.46 1545 0.1
6| 385 1545 117.42 0.189 38.46 1545 0.0
7| 386 154.4 117.34 0.189 38.46 1545 -0.1
8| 387 154.3 117.27 0.189 38.46 1545 -0.2
9| 388 154.2 117.19 0.189 38.46 1545 -0.3
10| 389 154.1 117.12 0.189 38.46 1545 -0.4
11 39.0 153.9 116.96 0.189 38.46 1545 -0.6
=-3 HKRE - RTHEFE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 38.0 155 155.0 155.0 13.1
2| 760 1243 248.6 93.6 7.9
3 1140 105 315.0 66.4 5.6
4| 1520 91.6 366.4 51.4 43
5/ 1900 81.5 4075 41.1 35
6| 2280 73.7 4422 34.7 2.9
7| 266.0 67.3 471.1 28.9 2.4

HEM-1T




RIERE KL

2.48D

270

Au= 4390 m=

.41
K g B /_’
]
‘Y

G

1./00

Zél( J

A B
O 3ot 7 R 39.895 ha
A oK i 7,466 n
F 1,690 ot
/3 FFAMRE 7.09m%/sec>6. 642m®/sec
1/30 » 9.35m%/sec>9. 007m®/sec
3] 1/3 1.246 m
KL 1/30 1.507 m
# 1/3 6,111 nof
1
it /30 O BARAKER 7,818
i HuE O ¥1  2,000m"
Oo &t 9,918 o = 10,000 m
AkE 11,000 m
& 21,000 m'
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B [RERE[HKRE[LEMNRRE x-1 REREfETEEEELRC
=it B AEth &% (min)  [Q1(m3/s)|Q2(m3/s)[Q1+Q2(m3/s) THO®E | ¢ | EHikm?) W %
B S K AL FWL 80.5/(m) 0 81.84 25.8 107.6 728 70 | 0.0050 FRFHEEE 720 Ml ) P33
HlS EL 78.0|(m) 1 58.99 25.6 84.6 LI 290 | 0.8140
1= Ki%E : H=FWL-EL 2.5|(m) 2 4252 25.3 67.9 7k H 100
HRETKE:V 15,000/(m3) 3 30.65 25.1 55.8 B 200
At 2(Costa): Qp 81.84[(m3/s)  |Qp=325(H-V)** 4 22.09 249 470 EHl 70
TISEHE:A 0.8190|km2 5 15.93 247 40.6 A 0.8190
KRR : A2 0.0050|km2 6 11.48 24.4 35.9 Ty 289
r=a/(t"+b) 7 8.28 242 325
HAREEAR =%l 8 5.96 240 29.9 tHodke |t Hif A
ERRER N 0.848 9 4.30 23.8 28.1 7 1.00 | 0.0050 EHESH 7D MR 1 P33
EREERa 10953.08 10 3.10 235 26.6 (L1 0.80 | 0.8140
ErsEERX b 48.8 11 223 233 255 KH 0.75 | 0.0000
DR EIE R 524 A 2| 161 23] 247 e o5 ] oo
LAS 13 1.16 229 240 g3 0.85 | 0.0000
REENERM:tc 52|43 f&%@?ﬁé&%@%o 14 084 229 235 il 05
YT 15 0.60 224 23.0 e a) 0.80
B ER R R DR FRIRE ¢ 141.7|(mm/h) 16 0.43 222 226
HAKFREE—Y:Q 25.8|(m3/s)  |1/3.6+f-r-A 17 0.31 21.9 223 £-2 HOKTERR
BREHHOKIREN.2Q 30.96{(m3/s) 18 0.23 21.7 219 REOTEREl GAWGRE |(HVMEFRE s | BUKEIERSRS
19 0.16 215 216 (%3 r(mm/h)  |re=fermm/m)| to(min) k e
20 0.12 213 214 1 52.0 1417 113.36 0.191 52.83 141 0.7
21 0.08 21.0 21.1 2 52.1 1416 113.28 0.191 52.83 141 0.6
22 0.06 208 20.9 3 52.2 1415 113.20 0.191 52.83 141 05
23 0.04 206 20.6 4 52.3 141.4 113.12 0.191 52.83 141 0.4
24 0.03 20.4 20.4 5 52.4 1413 113.04 0.191 52.83 141 0.3
25 0.02 20.1 20.1 6 525 1412 112.96 0.191 52.83 141 0.2
26 0.02 19.9 19.9 7 52.6 1411 112.88 0.191 52.83 141 0.1
27 0.01 19.7 19.7 8 52.7 1411 112.88 0.191 52.83 141 0.1
28 0.01 19.4 19.5 9 52.8 1410 112.80 0.191 52.83 141 0.0
10 52.9 1409 11272 0.191 52.83 141 -0.1
11 53.0 1408 112.64 0.191 52.83 141 -0.2
x-3 HKRE-AIAEPE
t r In Q
i (min) (mm/h) nr (mm/h) (m3/s)
1 52.0 1417 1417 1417 2538
2| 1040 109.4 218.8 77.1 14.0
3| 156.0 90.4 2712 52.4 95
4| 2080 77.6 3104 39.2 7.1
. 5/ 2600 68.3 3415 31.1 5.7
0 100 ZOOmzv 6| 3120 61.1 366.6 25.1 46
e _“ i 7| 3640 55.5 3885 219 40
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=& At -3

W B R KL FWL 145.3[(m)

HlS EL 137.8[(m)

=8 IKi%E : H=FWL-EL 7.5|(m)

WETKE:V 30,000{(m3)

= RFHE=(Costa): Qp 173.7|(m3/s)  |Qp=325(H-V)**?

JRigmiE:A 0.0860|km?2

/K ETE: A2 0.0070|km2

r=a/(t"+b)

1 F R = £181Fr =3

ErRsEE KN 0.848

ErREE R 10953.08

ErsEERX b 488
F-2Tri-r2hoh &

AR E B BF et 28|45 Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 28(4> L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 166.8{(mm/h)

HKFEE—Y:Q 3.3|(m3/s) [1/36-f-r-A

REHEKGREN.2Q 3.96|(m3/s)

i 7
/o
YA
/

/e
v

Co/086knz.

|

; o .“’ " ; i‘l\l_l-II\‘\ I| i ‘l :
¢ A//’, - “\_\_7 B "; /’ \\“ T R
o A=0-0Tkn2 /f,f SN 0 50
B T e e =
o _“\A \\‘\- .‘\\ \\\.‘ rﬁ_,_/\‘_l“ T

F-1 RHEGRBIERE RS ERC

TR TE C | ®fi(km2) i &
JitoXii 70 0.0070 R FHE R T 7200 M i 1 P33
(Lot 290 | 0.0790
KH 100
M 200
EHh 70
‘it 0.0860
T EEY 272

R LR/NI= f [l

it &

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 173.70 3.3 177.0
1 122.72 3.3 126.0
2 86.71 3.2 89.9
3 61.26 3.2 64.4
4 43.28 3.1 46.4
5 30.58 3.1 33.7
6 21.61 3.1 247
7 15.26 3.0 18.3
8 10.78 3.0 13.8
9 7.62 2.9 10.6
10 5.38 2.9 8.3
11 3.80 2.9 6.7
12 2.69 2.8 55
13 1.90 2.8 4.7
14 1.34 2.8 4.1
15 0.95 2.7 3.7
16 0.67 2.7 3.3
17 0.47 2.6 3.1
18 0.33 2.6 29
19 0.24 2.6 2.8
20 0.17 2.5 2.7
21 0.12 2.5 2.6
22 0.08 24 25
23 0.06 24 25
24 0.04 24 24
25 0.03 2.3 2.3
26 0.02 2.3 2.3
27 0.01 22 22
28 0.01 22 22

JitoXii 1.00 [ 0.0070 AXFHEEF T2 MR i 1 P33
(it 0.80 | 0.0790
K H 0.75 | 0.0000
Bt 0.53 | 0.0000
Eh 0.85 [ 0.0000
CEi 0.0860
e a) 0.82
F-2 HKEERME
REOTEREl GAWGRE |(HVMEFRE s | FOKEIEER] _
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 28.0 166.8 136.78 0.179 28.38 166.3 0.5
2 281 166.7 136.69 0.179 28.38 166.3 04
3 28.2 166.5 136.53 0.179 28.38 166.3 0.2
4 28.3 166.4 136.45 0.179 28.38 166.3 0.1
5 284 166.3 136.37 0.179 28.38 166.3 0.0
6 285 166.1 136.20 0.179 28.38 166.3 -0.2
7 28.6 166.0 136.12 0.179 28.38 166.3 -0.3
8 28.7 165.9 136.04 0.179 28.38 166.3 -0.4
9 28.8 165.8 135.96 0.179 28.38 166.3 -0.5
10 28.9 165.6 135.79 0.179 28.38 166.3 -0.7
11 29.0 165.5 135.71 0.179 28.38 166.3 -0.8
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 28.0 166.8 166.8 166.8 3.3
2 56.0 138.3 276.6 109.8 22
3 84.0 119.5 3585 81.9 1.6
4 112.0 105.9 423.6 65.1 1.3
5 140.0 95.4 477.0 534 1.0
6 168.0 87 5220 45.0 0.9
7 196.0 80.1 560.7 38.7 0.8
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B [RERE|HEKRE|LEMNRRE x-1 REREfETEEEELRC
=it B e bk &% (min) | Q1(m3/s)| Q2(m3/s)[ Q1+Q2(m3/s) THO®E | ¢ | EHikm?) W %
B S K AL FWL 80.0/(m) 0 36.60 1.2 3738 728 70 | 0.0013 FRFHEEE 720 Ml ) P33
LS EL 75.4|(m) 1 5.87 1.2 7.1 I 290 | 0.0287
1= Ki%E : H=FWL-EL 4.6|(m) 2 0.94 1.2 2.1 7k H 100
HRRTKE:V 1,200{(m3) 3 0.15 11 1.3 Bl 200
At 2(Costa): Qp 36.6|(m3/s)  |Qp=325(H-V)"* 4 0.02 1.1 1.1 EHl 70
TISEHE:A 0.0300|km2 5 0.00 1.1 1.1 A 0.0300
WKEE: A2 0.0013|km2 6 0.00 1.1 1.1 T 280
r=a/(t"+b) 7 0.00 1.1 1.1
HAREEAR =%l 8 0.00 1.1 1.1 tHodke |t Hif A
ERRER N 0.848 9 0.00 1.0 1.0 7 1.00 | 0.0013 EHESH 7D MR 1 P33
EREERa 10953.08 10 0.00 1.0 1.0 (L1 0.80 | 0.0287
ErsEERX b 48.8 11 0.00 1.0 1.0 KH 0.75 | 0.0000
DR EIE R 22| A 12| 000 10 10 e o5 ] oo
LA 13 0.00 1.0 1.0 Bt 0.85 0.0000
REENZERE to 22|45 f&%@?&%@%@%o 14 000 09 09 il 000
YT 15 0.00 0.9 0.9 e a) 0.81
B ER R R DR FRIRE ¢ 175.1|(mm/h) 16 0.00 0.9 0.9
BKREE—Y:Q 1.2|(m3/s) |1/3.6-f-r-A 17 0.00 0.9 0.9 R-2 HKEERR
BREHHOKIREN.2Q 1.44{(m3/s) 18 0.00 0.9 0.9 REOTEREl GAWGRE |(HVMEFRE s | BUKEIERSRS
19 0.00 0.9 0.9 ) r(mm/h)  [re=fermmm)| T tc(min) k
20 0.00 0.8 0.8 1 220 175.1 141.83 0.177 2291 1738
2 22.1 175.0 141.75 0.177 2291 1738
3 222 1748 14159 0.177 2291 1738
4 223 174.7 14151 0.177 22.91 1738
5 22.4 1745 141.35 0.177 22.91 1738
f48 6 225 174.4 141.26 0.177 2291 1738
B30kt 7 22.6 174.2 141.10 0.177 22.91 1738
=17 / 8 227 174.1 141.02 0.177 2291 1738
9 2238 1739 140.86 0.177 22.91 1738
10 229 1738 140.78 0.177 22.91 1738
11 230 1736 140.62 0.177 22.91 1738
x-3 HKRE-AIAEPE
t r In Q
i (min) (mm/h) nr (mm/h) (m3/s)
1 220 175.1 175.1 175.1 12
2 440 1489 297.8 1227 0.8
3 66.0 1308 392.4 946 0.6
4 88.0 1173 469.2 76.8 0.5
5/ 1100 106.7 5335 64.3 0.4
6| 1320 98.1 588.6 55.1 0.4
7| 1540 91 637.0 48.4 0.3







=& P ] -3

BB FWL (m)

LS EL (m)

F=83th K% : H=FWL-EL 6.0{(m) IHhEtAl

#Erk=:Vv 3,120|(m3) 520m2 X 6m

= RFHE=(Costa): Qp 61.13|/(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.1100{km?2

/K ETE: A2 0.00052 |km2 X _E 518

r=a/(t"+b)

1 F R = £181Fr =5

ErRsEE KN 0.848

ErREE R 10953.08

ErsEERX b 488
F-2Tri-r2hoh &

AR E B BF et 32|% Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 32|% L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 161.8{(mm/h)

HKFEE—Y:Q 40|(m3/s) |1/36+fr-A

REHEKGREN.2Q 4.8|(m3/s)

oY

S
i

A1 [

BFfE | REBEREZ[BKRE|CEXNRTRE
(min) | Q1(m3/s)[ Q2(m3/s)| Q1+Q2(m3/s)
ol 6113 4.0 65.1
1 18.87 40 22.8
2 5.82 3.9 9.7
3 1.80 3.9 5.7
4 0.55 3.8 44
5 0.17 3.8 3.9
6 0.05 3.7 3.8
7 0.02 3.7 3.7
8 0.01 3.6 3.6
9 0.00 3.6 3.6
10 0.00 3.5 35
11 0.00 3.5 35
12 0.00 34 34
13 0.00 34 34
14 0.00 3.3 3.3
15 0.00 3.3 3.3
16 0.00 3.3 3.3
17 0.00 3.2 3.2
18 0.00 3.2 3.2
19 0.00 3.1 3.1
20 0.00 3.1 3.1

F-1 RHEGRBIERE RS ERC

THiDHRRE C | ®fi(km2) i &
7ot 70 0.00052 RERHIREH7- O MU ) P33
(Lot 290 | 0.10948
7KH 100
M 200
E 70
‘it 0.11000
Taf I 289
IR RE f i L
Pat;akiii! 1.00 0.0005 AFHRS T2 MR ) P33
(L 0.80 0.1095
KH 0.75 0.0000
Bk 0.53 | 0.0000
£ 0.85 [ 0.0000
‘it 0.1100
Taf I 0.80

F&-2 HOKEERR]

REOTEREl GAWGRE |(HVMEFRE s | FOKEIEER] _
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 32.0 161.8 129.44 0.182 32.37 161.4 04
2 321 161.7 129.36 0.182 32.37 161.4 0.3
3 322 161.6 129.28 0.182 32.37 161.4 0.2
4 323 161.4 129.12 0.182 32.37 161.4 0.0
5 324 161.3 129.04 0.182 32.37 161.4 -0.1
6 325 161.2 128.96 0.183 32.54 161.2 0.0
7 32.6 161.1 128.88 0.183 32.54 161.2 -0.1
8 32.7 161.0 128.80 0.183 32.54 161.2 -0.2
9 328 160.8 128.64 0.183 32.54 161.2 -0.4
10 329 160.7 128.56 0.183 32.54 161.2 -0.5
11 33.0 160.6 128.48 0.183 32.54 161.2 -0.6
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 32.0 161.8 161.8 161.8 40
2 64.0 132.3 264.6 102.8 25
3 96.0 113.2 339.6 75.0 1.8
4 128.0 99.6 398.4 58.8 1.4
5 160.0 89.2 446.0 476 1.2
6 192.0 81 486.0 40.0 1.0
7 2240 744 520.8 348 0.9
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1= ith 4 R Fit(2on) sz

W B R KL FWL 75.4|(m)

HlS EL 71.0|/(m)

=8 IKi%E : H=FWL-EL 4.4{(m)

WETKE:V 6,000{(m3)

&K =(Costa): Qp 70.62|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.2590|km?2

/K EE: A2 0.0049|km2

r=a/(t"+b)

1 F R = £181Fr =5

ErRsEE KN 0.848

ErREE R 10953.08

ErsEERX b 488
FR-2Tri-r2hiomiEk

AR E B BF et 35|45 Iz L5#YIR
LAA
RK-2Dr1-r2MEH0

REFHERR tc 35(4 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 158.3|(mm/h)

HKFEE—Y:Q 9.1|(m3/s) [1/36-f-r-A

REHEKGREN.2Q 10.92|(m3/s)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 70.62 9.1 79.7
1 34.85 9.0 43.9
2 17.20 8.9 26.1
3 8.49 8.8 17.3
4 419 8.7 12.9
5 2.07 8.6 10.7
6 1.02 8.5 9.5
7 0.50 84 8.9
8 0.25 8.3 8.6
9 0.12 8.2 8.3
10 0.06 8.1 8.2
11 0.03 8.0 8.0
12 0.01 79 79
13 0.01 7.8 7.8
14 0.00 1.7 1.7
15 0.00 7.6 7.6
16 0.00 7.5 1.5
17 0.00 74 14
18 0.00 7.3 7.3
19 0.00 7.2 7.2
20 0.00 7.1 71

F-1 RHEGRBIERE RS ERC

THiDHRRE C | ®fi(km2) i &
JitoXii 70 0.0049 R FHE R T 7200 M i 1 P33
(Lot 290 | 0.2211
KH 100 0.0330
M 200
E 70
‘it 0.2590
Taf I 262
IR RE f i L
Pat;akiii! 1.00 0.0049 AFHRS T2 MR ) P33
(L 0.80 0.2211
KH 0.75 0.0330
Bk 0.53 | 0.0000
£ 0.85 [ 0.0000
‘it 0.2590
Taf I 0.80

F&-2 HOKEERR]

REOTEREl GAWGRE |(HVMEFRE s | FOKEIEER] _
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 35.0 158.3 126.64 0.184 35.81 157.4 0.9
2 35.1 158.2 126.56 0.184 35.81 157.4 0.8
3 35.2 158.1 126.48 0.184 35.81 157.4 0.7
4 353 158.0 126.40 0.184 35.81 157.4 0.6
5 354 157.9 126.32 0.184 35.81 157.4 0.5
6 35.5 157.7 126.16 0.184 35.81 157.4 0.3
7 35.6 157.6 126.08 0.184 35.81 157.4 0.2
8 35.7 1575 126.00 0.184 35.81 157.4 0.1
9 35.8 157.4 125.92 0.184 35.81 157.4 0.0
10 35.9 157.3 125.84 0.184 35.81 157.4 -0.1
11 36.0 157.2 125.76 0.184 35.81 157.4 -0.2
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 35.0 158.3 158.3 158.3 9.1
2 70.0 1281 256.2 97.9 5.6
3 105.0 108.9 326.7 70.5 4.1
4 140.0 95.4 381.6 54.9 3.2
5 175.0 85.2 426.0 444 2.6
6 2100 71.2 463.2 37.2 2.1
7 2450 70.7 4949 31.7 1.8
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B [RERE|HEKRE|LEMNRRE
=B AL Eith &% (min) | Q1(m3/s)| Q2(m3/s)[ Q1+Q2(m3/s)
B B KL FWL 70.0{(m) 0 92.35 16 94.0
S EL 60.0((m) 1 30.49 16 32.1
f=shith 7K %R - H=FWL-EL 10.0{(m) 2 10.07 16 11.6
RETKE:V 5,000|(m3) 3 3.32 15 49
At 2(Costa): Qp 92.35[(m3/s)  |Qp=325(H-V)** 4 1.10 15 2.6
TISEHE:A 0.0425|km2 5 0.36 15 19
WKERE: A2 0.0011|km2 6 0.12 15 16
r=a/(t"+b) 7 0.04 15 15
HAREEAR =% 8 0.01 14 15
FERRER N 0.848 9 0.00 14 1.4
R ERa 10953.08 10 0.00 14 1.4
FERsREXDb 48.8 11 0.00 14 1.4

R-2Tri-r2h0n® 12 0.00 14 14

PEAR E BIE B fE 25|43 hICIENDESRYER
LAS 13 0.00 13 13
REENZERE to 25|49 f&%@?igﬂéar%%%o 1 000 13 13
YU 15 0.00 13 13
B ER R R DR FRIRE ¢ 170.8|(mm/h) 16 0.00 13 13
HAKREE—Y:Q 1.6/(m3/s) |1/3.6+fr-A 17 0.00 1.3 1.3
itk E:.2Q 1.92|(m3/s) 18 0.00 1.2 1.2
19 0.00 12 12
20 0.00 12 12

=t

E/KE

e = I
LB [H 18

E[Ija:
Q. 0d2bkm2

I, 100m4

™

F-1 RHEGRBIERE RS ERC

THiDHRRE C | ®fi(km2) i &
pat:o¥iich 70 0.0011 AR AR 7o M i | P33
(Lot 290 | 0.0414
7KH 100
M 200
E 70
‘it 0.0425
Taf I 284
IR RE f i L
Pat;akiii! 1.00 0.0011 AFHRS T2 MR ) P33
(L 0.80 0.0414
KH 0.75 0.0000
Bk 0.53 | 0.0000
£ 0.85 [ 0.0000
‘it 0.0425
Taf I 0.81

F&-2 HOKEERR]

REOTEREl GAWGRE |(HVMEFRE s | FOKEIEER] _
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 25.0 170.8 138.35 0.178 25.23 170.5 0.3
2 251 170.7 138.27 0.178 25.23 170.5 0.2
3 25.2 170.5 138.11 0.178 25.23 170.5 0.0
4 253 170.4 138.02 0.178 25.23 170.5 -0.1
5 254 170.3 137.94 0.178 25.23 170.5 -0.2
6 255 17041 137.78 0.178 25.23 170.5 -0.4
7 25.6 170.0 137.70 0.178 25.23 170.5 -0.5
8 25.7 169.8 137.54 0.178 25.23 170.5 -0.7
9 25.8 169.7 137.46 0.179 25.38 170.3 -0.6
10 25.9 169.6 137.38 0.179 25.38 170.3 -0.7
11 26.0 169.4 137.21 0.179 25.38 170.3 -0.9
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 25.0 170.8 170.8 170.8 1.6
2 50.0 143.4 286.8 116.0 1.1
3 75.0 1249 374.7 87.9 0.8
4 100.0 111.2 4448 70.1 0.7
5 125.0 100.7 503.5 58.7 0.6
6 150.0 92.2 553.2 49.7 0.5
7 175.0 85.2 596.4 43.2 0.4
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=& fEtith -3

W B R KL FWL 78.4|(m)

LS EL 74.3[(m)

=8 IKi%E : H=FWL-EL 4.1{(m)

WETKE:V 3,500({(m3)

= RFHE=(Costa): Qp 54.67|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.0330|km?2

/K ETE: A2 0.0017|km2

r=a/(t"+b)

1 F R = £181Fr =5

ErRsEE KN 0.848

ErREE R 10953.08

ErsEERX b 488
F-2Tri-r2hoh &

AR E B BF et 23| % Iz L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 23|% L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 173.6{(mm/h)

HKFEE—Y:Q 1.3|(m3/s) |1/3.6-f-r-A

REHEKGREN.2Q 1.56|(m3/s)

B | REAE | AKRE DENSAE
(min) | Q1(m3/s)[ Q2(m3/s)| Q1+Q2(m3/s)
o 5467 13 56.0
1 21.42 1.3 22.7
2 8.39 1.3 9.7
3 3.29 1.2 45
4 1.29 1.2 25
5 0.50 1.2 1.7
6 0.20 1.2 1.4
7 0.08 1.2 1.3
8 0.03 1.2 1.2
9 0.01 11 1.2
10 0.00 11 1.1
11 0.00 11 1.1
12 0.00 11 1.1
13 0.00 11 1.1
14 0.00 11 1.1
15 0.00 1.0 1.0
16 0.00 1.0 1.0
17 0.00 1.0 1.0
18 0.00 1.0 1.0
19 0.00 1.0 1.0
20 0.00 1.0 1.0

F-1 RHEGRBIERE RS ERC

THiDHRRE C | ®fi(km2) i &
pat:o¥iich 70 0.0017 AR AR 7o M i | P33
(Lot 290 | 0.0313
7KH 100
M 200
E 70
‘it 0.0330
Taf I 279
IR RE f i L
Pat;akiii! 1.00 | 0.0017 AFHRS T2 MR ) P33
(L 0.80 | 0.0313
KH 0.75 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0330
Taf I 0.81

F&-2 HOKEERR]

REOTEREl GAWGRE |(HVMEFRE s | FOKEIEER] _
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 23.0 173.6 140.62 0.177 23.32 173.2 04
2 231 173.5 140.54 0.177 23.32 173.2 0.3
3 23.2 173.3 140.37 0.177 23.32 173.2 0.1
4 233 173.2 140.29 0.177 23.32 173.2 0.0
5 234 17341 140.21 0.177 23.32 173.2 -0.1
6 235 172.9 140.05 0.177 23.32 173.2 -0.3
7 23.6 172.8 139.97 0.177 23.32 173.2 -0.4
8 23.7 172.6 139.81 0.177 23.32 173.2 -0.6
9 238 172.5 139.73 0.177 23.32 173.2 -0.7
10 239 172.3 139.56 0.178 23.45 173 -0.7
11 240 172.2 139.48 0.178 23.45 173 -0.8
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 23.0 173.6 173.6 173.6 1.3
2 46.0 147 2940 120.4 0.9
3 69.0 128.8 386.4 92.4 0.7
4 92.0 115.2 460.8 744 0.6
5 115.0 104.6 523.0 62.2 0.5
6 138.0 96 576.0 53.0 0.4
7 161.0 88.9 622.3 46.3 0.3
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=& Aith E&E

W B R KL FWL 103.6{(m)

LS EL 98.5((m)

=8 IKi%E : H=FWL-EL 5.1|(m)

WETKE:V 2,500{(m3)

= RFHE=(Costa): Qp 52.02|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.0260|km?2

/K ETE: A2 0.0006 |km2

r=a/(t"+b)

1 F R = £181Fr =% 3]

ErRsEE KN 0.848

A ER:a 10953.08

ErsEERX b 488
R-2Tr1-r2Hoh xR

N EAR TE B E B fE):t 22|45 FIZEH N B L5#YIR
LAA
F-2Mr1-r2M{EH0

REBERFM to 22|59 BRI ERRE R
HUVIET

B ZERBRNOBREE: v 175.1|/(mm/h)

HKFEE—Y:Q 1.0{(m3/s) |1/3.6+fr-A

SRETHKTREN.2Q 1.2{(m3/s)

At /Nt - St - Tt E SRR IR

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 52.02 1.0 52.4
1 14.93 1.0 15.3
2 428 1.0 4.7
3 1.23 1.0 1.6
4 0.35 0.9 0.7
5 0.10 0.9 0.5
6 0.03 0.9 0.4
7 0.01 0.9 0.3
8 0.00 0.9 0.3
9 0.00 0.9 0.3
10 0.00 0.9 0.3
11 0.00 0.9 0.3
12 0.00 0.8 0.3
13 0.00 0.8 0.3
14 0.00 0.8 0.3
15 0.00 0.8 0.3
16 0.00 0.8 0.3
17 0.00 0.8 0.3
18 0.00 0.8 0.2
19 0.00 0.7 0.2
20 0.00 0.7 0.2

e

RHKREF ERO L, NhDHKEREZELSIVTHEE

R-1 REREIETRISFIEERC

F IR FE C | mifEkm2) i &
pat:o¥iich 70 0.0012 AR AR 7o M i | P33
(Lot 290 | 0.0248
7KH 100
Hkh 200
FEHh 70
‘it 0.0260

faf ES-25) 280

T HOIRRE f i L
Pat;akiii! 1.00 | 0.0012 AFHRS T2 MR ) P33
(L 0.80 | 0.0248
KH 0.75 | 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0260

faf ESF-25) 0.81

F&-2 HOKEERR]

REOTEREl GAWGRE |(HVMEFRE o5 | PUKEEESE ~
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 22.0 1751 141.83 0.177 22.2 174.8 0.3
2 221 175.0 141.75 0.177 22.2 174.8 0.2
3 22.2 174.8 141.59 0.177 22.2 174.8 0.0
4 223 174.7 141.51 0.177 22.2 174.8 -0.1
5 22.4 1745 141.35 0.177 22.2 174.8 -0.3
6 225 174.4 141.26 0.177 22.2 174.8 -0.4
7 22.6 174.2 141.10 0.177 22.2 174.8 -0.6
8 22.7 1741 141.02 0.177 22.2 174.8 -0.7
9 22.8 173.9 140.86 0.177 22.2 174.8 -0.9
10 229 173.8 140.78 0.177 22.2 174.8 -1.0
11 23.0 173.6 140.62 0.177 22.2 174.8 -1.2
x-3 HKRE-AIAEPE
t r In Q
" i (mm/h) mr (mm/h) | (m3/s)
1 22.0 1751 1751 1751 1.0
2 440 148.9 297.8 122.7 0.7
3 66.0 130.8 3924 94.6 0.6
4 88.0 1173 469.2 76.8 0.4
5 110.0 106.7 5335 64.3 0.4
6 132.0 98.1 588.6 55.1 0.3
7 154.0 91 637.0 48.4 0.3
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=& Lith E&E

W B R KL FWL 119.8{(m)

LS EL 117.0|(m)

=8 IKi%E : H=FWL-EL 2.8|(m)

WETKE:V 1,000|(m3)

= RFHE=(Costa): Qp 27.52|(m3/s)  |Qp=325(H-V)**

JRigmiE:A 0.0114|km2

/K ETE: A2 0.0003|km2

r=a/(t"+b)

1 F R = £181Fr =% 3]

ErRsEE KN 0.848

A ER:a 10953.08

ErsEERX b 488
R-2Tr1-r2Hoh xR

N EAR TE B E B fE):t 18|59 FIZEH N B L5#YIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 18|59 L1 AR EREEE
HUVIET

B ERERIR DERRE v 181.3|(mm/h)

HKFEE—Y:Q 0.5|/(m3/s) |1/3.6+fr-A

SRETHKTREN.2Q 0.6|/(m3/s)

At /Nt - St - Tt E SRR IR

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 27.52 0.5 28.0
1 5.28 0.5 5.8
2 1.01 0.5 1.5
3 0.19 0.5 0.7
4 0.04 0.5 0.5
5 0.01 04 0.5
6 0.00 04 0.4
7 0.00 04 0.4
8 0.00 04 0.4
9 0.00 04 0.4
10 0.00 04 0.4
11 0.00 04 0.4
12 0.00 04 0.4
13 0.00 04 0.4
14 0.00 0.3 0.3
15 0.00 0.3 0.3
16 0.00 0.3 0.3
17 0.00 0.3 0.3
18 0.00 0.3 0.3
19 0.00 0.3 0.3
20 0.00 0.3 0.3

R-1 REREIETRISFIEERC

F IR FE C | mifEkm2) i &
pat:o¥iich 70 0.0003 AR AR 7o M i | P33
(Lot 290 | 0.0111
7KH 100
Hkh 200
FEHh 70
‘it 0.0114

faf ES-25) 284

T HOIRRE f i L
Pat;akiii! 1.00 | 0.0003 AFHRS T2 MR ) P33
(L 0.80 | 0.0111
KH 0.75 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0114

faf ESF-25) 0.81

F&-2 HOKEERR]

prosent| AWRE |[Awmmag] o [mxmEEm )
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 18.0 181.3 146.85 0.174 18.47 180.6 0.7
2 18.1 181.2 146.77 0.174 18.47 180.6 0.6
3 18.2 181.0 146.61 0.175 18.57 180.4 0.6
4 18.3 180.9 146.53 0.175 18.57 180.4 0.5
5 18.4 180.7 146.37 0.175 18.57 180.4 0.3
6 18.5 180.5 146.21 0.175 18.57 180.4 0.1
7 18.6 180.4 146.12 0.175 18.57 180.4 0.0
8 18.7 180.2 145.96 0.175 18.57 180.4 -0.2
9 18.8 180.0 145.80 0.175 18.57 180.4 -04
10 18.9 179.9 145.72 0.175 18.57 180.4 -0.5
1 19.0 179.7 145.56 0.175 18.57 180.4 -0.7
x-3 HKRE-AIHEHE
t r In Q
" mim (mm/h) mr (mm/h) | (m3/s)
1 18.0 181.3 181.3 181.3 0.5
2 36.0 157.2 3144 133.1 0.3
3 54.0 140 420.0 105.6 0.3
4 72.0 126.8 507.2 87.2 0.2
5 90.0 116.3 581.5 74.3 0.2
6 108.0 107.6 645.6 64.1 0.2
7 126.0 100.3 7021 56.5 0.1
Fi-37
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=t a ot () &%

B S K AL FWL 85.3|(m)

LS EL 83.0|(m)

T=8hith K% : H=FWL-EL 2.3|(m)

BETKE:V 1,000{(m3)

KTt = (Costa): Qp 25.34|(m3/s)  |Qp=325(H-V)**

TISEHE:A 0.0410|km2

WKERE: A2 0.0003|km2

r=a/(t"+b)

HAREEART =%l

EREER N 0.848

EREER 10953.08

EREERDb 48.8
F-2Tri-r2hoh &

PIEA R TE B2 B 237 Eﬂ)lf%%héd:iﬁ%&
FR-2Dr1-r2MAEH0

REEERF:tc 23(% LB EEHRER
HUIVIET

B ERBAOMEREE r 173.6{(mm/h)

HAKFEE—Y:Q 1.5|(m3/s) |1/3.6-f-r-A

itk E:.2Q 1.8|(m3/s)

EEHRIR

B | REAE | AKRE DENSAE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
of 2534 15 2528
1 5.54 1.5 6.0
2 1.21 1.5 1.7
3 0.26 1.4 0.7
4 0.06 1.4 0.5
5 0.01 1.4 0.5
6 0.00 1.4 0.5
7 0.00 1.3 0.4
8 0.00 1.3 0.4
9 0.00 1.3 0.4
10 0.00 1.3 0.4
11 0.00 1.3 0.4
12 0.00 1.2 0.4
13 0.00 1.2 0.4
14 0.00 1.2 0.4
15 0.00 1.2 0.4
16 0.00 1.2 0.4
17 0.00 11 0.4
18 0.00 11 0.4
19 0.00 11 0.3
20 0.00 11 0.3

HBKREEEFRO Lt Nt K DBRKEREZLSIVTHEE

R-1 REREIETRISFIEERC

F IR FE C | mifEkm2) i &
pat:o¥iich 70 0.0015 axaHEEH 7o hHe i 1 P33
(Lot 290 | 0.0296
7KH 100
kit 200 0.0099
FEHh 70
aFt 0.0410

i 260

T HOIRRE f i L
Pat;akiii! 1.00 | 0.0015 AFHRS T2 MR ) P33
(L 0.80 | 0.0296
KH 0.75 | 0.0000
Bk 0.53 | 0.0099
£ 0.85 | 0.0000
aFt 0.0410

i 0.74

R-2 HOKEERE

REOTEREl GAWGRE |(HVMEFRE ogs | PKEIERSRS ~
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 230 1736 128.46 0.183 23.56 172.8 038
2| 2341 1735 128.39 0.183 23.56 172.8 0.7
3l 232 1733 128.24 0.183 23.56 172.8 05
4 233 173.2 128.17 0.183 23.56 172.8 0.4
5| 234 1731 128.09 0.183 23.56 172.8 0.3
6| 235 172.9 127.95 0.183 23.56 172.8 0.1
7| 236 1728 127.87 0.183 23.56 172.8 0.0
8| 237 1726 127.72 0.183 23.56 172.8 -0.2
9| 238 1725 127.65 0.183 23.56 172.8 -0.3
10| 239 172.3 127.50 0.183 23.56 172.8 -0.5
11| 240 172.2 127.43 0.183 23.56 172.8 -0.6
=-3 BKRE BIAEHE
t r In Q
" (min) (mm/h) nr mm/h) | (m3/s)
1 230 1736 173.6 173.6 15
2| 460 147 294.0 120.4 1.0
3l 690 1288 386.4 92.4 08
4 920 115.2 460.8 74.4 0.6
5/ 1150 104.6 523.0 62.2 05
6| 1380 96 576.0 53.0 0.4
7| 1610 88.9 622.3 46.3 0.4
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=& YIS At -3
BB K 5L : FWL (m)
LS EL (m)
1= K%  H=FWL-EL 1.5|(m) IR HhETA
WETKE:V 500((m3) 330m2 X 1.5m
At 2(Costa): Qp 15.83|(m3/s)  |Qp=325(H-V)**
JRigmiE:A 0.0150|km?2
/K ETE: A2 0.00033|km2 & &8
r=a/(t"+b)
1 F R = £181Fr =3
ErRsEE KN 0.848
EREERa 10953.08
ErsEERX b 488
R-2Tr1-r2Hoh xR
AR E B BF et 19|45 Iz L5#YIR
LAA
F-2Mr1-r2M{EH0
REFHERR tc 19|59 L1 AR EREEE
HUVIET
B ZERRINOBERREE r 179.7((mm/h)
HKFEE—Y:Q 0.6|/(m3/s) |1/3.6+fr-A
EREHKIRE 1 .2Q 0.72{(m3/s)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 15.83 0.6 16.4
1 237 0.6 3.0
2 0.35 0.6 0.9
3 0.05 0.6 0.6
4 0.01 0.6 0.6
5 0.00 0.5 0.5
6 0.00 0.5 0.5
7 0.00 0.5 0.5
8 0.00 0.5 0.5
9 0.00 0.5 0.5
10 0.00 0.5 0.5
11 0.00 0.5 0.5
12 0.00 0.5 0.5
13 0.00 0.5 0.5
14 0.00 0.5 0.5
15 0.00 04 0.4
16 0.00 04 0.4
17 0.00 04 0.4
18 0.00 04 0.4
19 0.00 04 0.4
20 0.00 04 0.4

R-1 REREIETRISFIEERC

F IR FE C | mifEkm2) i &
pat:o¥iich 70 0.00033 AR AR 7o M i | P33
(Lot 290 | 0.01467
7KH 100
Hkh 200
E 70
‘it 0.01500

faf ES-25) 285

T HOIRRE f i L
Pat;akiii! 1.00 | 0.0003 AFHRS T2 MR ) P33
(L 0.80 | 0.0147
KH 0.75 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0150

faf ESF-25) 0.80

F&-2 HOKEERR]

REOTEREl GAWGRE |(HVMEFRE o5 | PUKEEESE ~
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 19.0 179.7 143.76 0.176 19.91 178.3 1.4
2 19.1 179.6 143.68 0.176 19.91 178.3 1.3
3 19.2 179.4 143.52 0.176 19.91 178.3 1.1
4 19.3 179.2 143.36 0.176 19.91 178.3 0.9
5 19.4 17941 143.28 0.176 19.91 178.3 0.8
6 19.5 178.9 143.12 0.176 19.91 178.3 0.6
7 19.6 178.8 143.04 0.176 19.91 178.3 0.5
8 19.7 178.6 142.88 0.176 19.91 178.3 0.3
9 19.8 178.5 142.80 0.176 19.91 178.3 0.2
10 19.9 178.3 142.64 0.176 19.91 178.3 0.0
11 20.0 1781 142.48 0.176 19.91 178.3 -0.2
x-3 HKRE-AIAEPE
t r In Q
" i (mm/h) mr (mm/h) | (m3/s)
1 19.0 179.7 179.7 179.7 0.6
2 38.0 155 3100 130.3 0.4
3 57.0 1375 4125 102.5 0.3
4 76.0 1243 497.2 84.7 0.3
5 95.0 113.7 568.5 71.3 0.2
6 114.0 105 630.0 61.5 0.2
7 133.0 978 684.6 54.6 0.2







=it L Fr dtnith E&E

B KL FWL (m)

LS EL (m)

1= K%  H=FWL-EL 1.5|(m) R EHAI

WETKE:V 570[(m3) 380m2 X 1.5m

B KFHE(Costa): Qp 16.72|(m3/s)  |Qp=325(H-V)**

TRIEETE:A 0.0262 |km2

/K EE: A2 0.00038|km2 X _EEHA

r=a/(t"+b)

1 F R = £181Fr =% 3]

ErRsEE KN 0.848

A ER:a 10953.08

ErsEERX b 488
R-2Tr1-r2h0M =&

AR E B BF et 21|57 RN D LSEYR
LAA
F-2Mr1-r2M{EH0

REBERFM to 21|45 BRI ERRE R
HUVIET

B ZERBRNOBREE: v 176.6|(mm/h)

HKFEE—Y:Q 1.0{(m3/s) |1/3.6+fr-A

RETKIREN.2Q 1.2|(m3/s)

it ¢ #0700 36 ka2 /

=5

i

—

b =T—

i |[RER=E|BEKRE|LEXRRZ
(min) | Q1(m3/s)[ Q2(m3/s)| Q1+Q2(m3/s)
0 16.72 1.0 17.7
1 2.88 1.0 3.9
2 0.49 1.0 1.5
3 0.09 1.0 1.0
4 0.01 0.9 1.0
5 0.00 0.9 0.9
6 0.00 0.9 0.9
7 0.00 0.9 0.9
8 0.00 0.9 0.9
9 0.00 0.9 0.9
10 0.00 0.9 0.9
1 0.00 0.8 0.8
12 0.00 0.8 0.8
13 0.00 0.8 0.8
14 0.00 0.8 0.8
15 0.00 0.8 0.8
16 0.00 0.8 0.8
17 0.00 0.8 0.8
18 0.00 0.7 0.7
19 0.00 0.7 0.7
20 0.00 0.7 0.7
e

R-1 REREIETRISFIEERC

F IR FE C | mifEkm2) i &
pat:o¥iich 70 0.00038 B FHREH 7o A | P33
(Lot 290 | 0.02012
7KH 100
Hkh 200 | 0.00570
FEHh 70
aFt 0.02620

i 267

T HOIRRE f i L
Pat;akiii! 1.00 | 0.0004 AFHRS T2 MR ) P33
(L 0.80 | 0.0201
KH 0.75 | 0.0000
Bk 0.53 | 0.0057
£ 0.85 | 0.0000
aFt 0.0262

i 0.74

F&-2 HOKEERR]

REOTEREl GAWGRE |(HVMEFRE ogs | PKEIERSRS ~
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 210 176.6 130.68 0.182 21.81 175.4 1.2
2| 214 1765 130.61 0.182 21.81 175.4 1.1
3l 212 176.3 130.46 0.182 21.81 175.4 0.9
4l 213 176.2 130.39 0.182 21.81 175.4 08
5| 214 176.0 130.24 0.182 21.81 175.4 0.6
6| 215 175.8 130.09 0.182 21.81 175.4 0.4
7| 216 175.7 130.02 0.182 21.81 175.4 0.3
gl 217 1755 129.87 0.182 21.81 175.4 0.1
9| 218 175.4 129.80 0.182 21.81 175.4 0.0
10 219 175.3 129.72 0.182 21.81 175.4 -0.1
11| 220 175.1 129.57 0.182 21.81 175.4 -0.3
=-3 BKRE:-ATHEFE
t r In Q
" (min) (mm/h) nr mm/h) | (m3/s)
1 210 176.6 176.6 176.6 1.0
2| 420 150.9 301.8 125.2 0.7
3l 630 133 399.0 97.2 05
4| 840 1195 478.0 79.0 0.4
5/ 1050 108.9 5445 66.5 0.4
6| 1260 100.3 601.8 57.3 0.3
7| 1470 93.1 651.7 49.9 0.3
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=& INith E&E
BB K 5L : FWL (m)
LS EL (m)
T=8hith K% : H=FWL-EL 2.0|/(m) IR HhETA
WETKE:V 400((m3) 200m2 X 2m
At 2(Costa): Qp 16.26|/(m3/s)  |Qp=325(H-V)**
JRigmiE:A 0.0160|km?2
/K ETE: A2 0.0002|km2 & &8
r=a/(t"+b)
1 F R = £181Fr =% 3]
ErRsEE KN 0.848
A ER:a 10953.08
ErsEERX b 488
R-2Tr1-r2HonxR
N EAR TE B E B fE):t 20|53 FIZEH N B L5#YIR
LAA
F-2Mr1-r2M{EH0
REBERFM to 20|% BRI ERRE R
HUVIET
B ZERRINOBERREE r 178.1{(mm/h)
HKFEE—Y:Q 0.6|/(m3/s) |1/3.6+fr-A
EREHKIRE 1 .2Q 0.72{(m3/s)

At /Nt -t - Tt E SRR IR

[ R

//

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 16.26 0.6 16.4
1 1.42 0.6 1.5
2 0.12 0.6 0.2
3 0.01 0.6 0.1
4 0.00 0.6 0.1
5 0.00 0.6 0.1
6 0.00 0.6 0.1
7 0.00 0.6 0.1
8 0.00 0.6 0.1
9 0.00 0.6 0.2
10 0.00 0.6 0.2
11 0.00 0.5 0.2
12 0.00 0.5 0.2
13 0.00 0.5 0.2
14 0.00 0.5 0.2
15 0.00 0.5 0.2
16 0.00 0.5 0.2
17 0.00 0.5 0.2
18 0.00 0.5 0.2
19 0.00 0.5 0.2
20 0.00 0.5 0.2

WNHKREFTERO LMDBKEREELSIVTES

R-1 REREIETRISFIEERC

F IR FE C | mifEkm2) i &
pat:o¥iich 70 0.0005 AR AR 7o M i | P33
(Lot 290 | 0.0155
7KH 100
Hkh 200
FEHh 70
‘it 0.0160

faf ES-25) 283

T HOIRRE f i L
Pat;akiii! 1.00 | 0.0005 AFHRS T2 MR ) P33
(L 0.80 | 0.0155
KH 0.75 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0000
‘it 0.0160

faf ESF-25) 0.81

F&-2 HOKEERR]

REOTEREl GAWGRE |(HVMEFRE o5 | PUKEEESE ~
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 20.0 1781 144.26 0.176 20.05 1781 0.0
2 201 178.0 14418 0.176 20.05 1781 -0.1
3 20.2 177.8 144.02 0.176 20.05 1781 -0.3
4 20.3 177.7 143.94 0.176 20.05 1781 -0.4
5 204 1775 143.78 0.176 20.05 1781 -0.6
6 20.5 177.4 143.69 0.176 20.05 1781 -0.7
7 20.6 177.2 143.53 0.176 20.05 1781 -0.9
8 20.7 17741 143.45 0.176 20.05 1781 -1.0
9 20.8 176.9 143.29 0.176 20.05 1781 -1.2
10 20.9 176.8 143.21 0.176 20.05 1781 -1.3
11 21.0 176.6 143.05 0.176 20.05 1781 -15
x-3 HKRE-AIAEPE
t r In Q
" i (mm/h) mr (mm/h) | (m3/s)
1 20.0 1781 1781 1781 0.6
2 40.0 152.9 305.8 127.7 0.5
3 60.0 135.2 405.6 99.8 0.4
4 80.0 121.8 487.2 81.6 0.3
5 100.0 111.2 556.0 68.8 0.2
6 120.0 102.6 615.6 59.6 0.2
7 140.0 95.4 667.8 52.2 0.2
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=& L -3

BB K 5L : FWL (m)

LS EL (m)

1= K%  H=FWL-EL 0.5|(m) IR HhETA

HRETKE:V 70|(m3) 140m2 X 0.5m

B A E(Costa): Qp 4.37|(m3/s)  |Qp=325(H-V)’*?

JRigmiE:A 0.0023|km2

/K ETE: A2 0.00014|km2 X _E 518

r=a/(t"+b)

1 F R = £181Fr =3

ErRsEE KN 0.848

ErREE R 10953.08

ErsEERX b 488
F-2Tri-r2hoh &

W H R E EERFR:t 10|%> RIZRNDE5HRYIR
LAA
F-2Mr1-r2M{EH0

REFHERR tc 10|59 L1 AR EREEE
HUVIET

B ZERBRNOBREE: v 196.1|(mm/h)

HKFEE—Y:Q 0.1|/(m3/s) |1/3.6+f-r-A

REHEKGREN.2Q 0.12|(m3/s)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 437 0.1 45
1 0.10 0.1 0.2
2 0.00 0.1 0.1
3 0.00 0.1 0.1
4 0.00 0.1 0.1
5 0.00 0.1 0.1
6 0.00 0.1 0.1
7 0.00 0.1 0.1
8 0.00 0.1 0.1
9 0.00 0.1 0.1
10 0.00 0.1 0.1
11 0.00 0.1 0.1
12 0.00 0.1 0.1
13 0.00 0.1 0.1
14 0.00 0.1 0.1
15 0.00 0.1 0.1
16 0.00 0.1 0.1
17 0.00 0.1 0.1
18 0.00 0.1 0.1
19 0.00 0.1 0.1
20 0.00 0.1 0.1

F-1 RHEGRBIERE RS ERC

THiDHRRE C | ®fi(km2) i &
7ot 70 0.00014 RERHIREH7- O MU ) P33
(Lot 290 | 0.00167
7KH 100
M 200
£ 70 0.00049
‘it 0.00230
Taf I 230
IR RE f i L
Pat;akiii! 1.00 | 0.0001 AFHRS T2 MR ) P33
(L 0.80 | 0.0017
KH 0.75 0.0000
Bk 0.53 | 0.0000
£ 0.85 | 0.0005
‘it 0.0023
Taf I 0.82

F&-2 HOKEERR]

REOTEREl GAWGRE |(HVMEFRE s | FOKEIEER] _
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 10.0 196.1 160.80 0.169 10.21 195.7 04
2 10.1 195.9 160.64 0.169 10.21 195.7 0.2
3 10.2 195.7 160.47 0.169 10.21 195.7 0.0
4 10.3 195.5 160.31 0.169 10.21 195.7 -0.2
5 10.4 195.3 160.15 0.169 10.21 195.7 -0.4
6 10.5 1951 159.98 0.169 10.21 195.7 -0.6
7 10.6 194.9 159.82 0.169 10.21 195.7 -0.8
8 10.7 194.7 159.65 0.169 10.21 195.7 -1.0
9 10.8 194.5 159.49 0.169 10.21 195.7 -1.2
10 10.9 1943 159.33 0.17 10.27 195.6 -1.3
11 11.0 1941 159.16 0.17 10.27 195.6 -1.5
x-3 HKRE-AIAEPE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 10.0 196.1 196.1 196.1 0.1
2 20.0 1781 356.2 160.1 0.1
3 30.0 164.2 492.6 136.4 0.1
4 40.0 152.9 611.6 119.0 0.1
5 50.0 143.4 717.0 105.4 0.1
6 60.0 135.2 811.2 94.2 0.0
7 70.0 1281 896.7 85.5 0.0







=t a FE/ith BE

B S KR FWL 124.0{(m)

S EL 120.4|(m)

T=8hith K% : H=FWL-EL 3.6|(m)

HEPKE:V 6,600[(m3)

RARH 2 (Costa): Qp 67.17|(m3/s)  |Qp=325(H-V)**

TEEE:A 0.0380 [km2

HIKETE: A2 0.0026|km2

r=a/(t"+b)

HAREEART KR

ErRsEE KN 0.975

EREERa 14427.64

BEREERD 61.45
F-2Tr1-r2h0A %K

PR E B ERF At 23|% BN D ESRYIR
LAA
FR-2Dr1-r2MAEH0

REFERR tc 23|57 EIE DR ERREEE
HUIVIET

B ERBAOMEREE r 174.4|(mm/h)

HAKFEE—Y:Q 15|(m3/s) |1/36+fr-A

RETHEKIREN 20 1.8|(m3/s)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 67.17 1.5 68.7
1 36.47 1.5 379
2 19.81 1.4 213
3 10.75 1.4 12.2
4 5.84 1.4 7.2
5 3.17 1.4 45
6 1.72 1.3 3.1
7 0.93 1.3 22
8 0.51 1.3 1.8
9 0.28 1.3 1.5
10 0.15 1.2 1.4
11 0.08 1.2 1.3
12 0.04 1.2 1.2
13 0.02 1.2 1.2
14 0.01 11 1.1
15 0.01 11 1.1
16 0.00 1.1 1.1
17 0.00 11 1.1
18 0.00 1.0 1.0
19 0.00 1.0 1.0
20 0.00 1.0 1.0

= ﬂwh
SriEiE E 0. 038km

Sk ETE/ 2, 600m

F-1 RHEGRBIERE RS ERC

THiDHRRE C | ®fi(km2) i &
pat:o¥iich 70 0.0026 AR AR 7o M i | P33
(Lot 290 | 0.0354
7KH 100
M 200
E 70
‘it 0.0380
Taf I 275
IR RE f i L
Pat;akiii! 1.00 0.0026 AFHRS T2 MR ) P33
(L 0.80 0.0354
KH 0.75 0.0000
Bk 0.53 | 0.0000
£ 0.85 [ 0.0000
‘it 0.0380
Taf I 0.81

F&-2 HOKEERR]

REOTEREl GAWGRE |(HVMEFRE s | FOKEIEER] _
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 23.0 174.4 141.26 0.177 23.71 17341 1.3
2 231 174.2 141.10 0.177 23.71 17341 1.1
3 23.2 174.0 140.94 0.177 23.71 17341 0.9
4 233 173.9 140.86 0.177 23.71 17341 0.8
5 234 173.7 140.70 0.177 23.71 17341 0.6
6 235 173.5 140.54 0.177 23.71 17341 04
7 23.6 173.3 140.37 0.177 23.71 17341 0.2
8 23.7 17341 140.21 0.177 23.71 17341 0.0
9 238 172.9 140.05 0.177 23.71 17341 -0.2
10 239 172.7 139.89 0.177 23.71 17341 -0.4
11 240 172.5 139.73 0.177 23.71 17341 -0.6
®-3 HKRE-AIAEHE
t r In Q
" (min) (mm/h) nr (mm/h) (m3/s)
1 23.0 174.4 174.4 174.4 1.5
2 46.0 139.7 2794 105.0 0.9
3 69.0 116.8 350.4 71.0 0.6
4 92.0 100.5 402.0 51.6 0.4
5 115.0 88.2 441.0 39.0 0.3
6 138.0 78.6 471.6 30.6 0.3
7 161.0 A 497.0 254 0.2
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JARE




B | RERE|HKRE|LENRHRE
f=H & V&1 At B=E (min)  [Q1(m3/s)| Q2(m3/s)| Q1+Q2(m3/s)
B S KR FWL 118.9((m) 0 37.37 3.8 412
LS EL 116.0|(m) 1 12.18 3.7 15.9
T=8hith K% : H=FWL-EL 2.9|(m) 2 3.97 37 7.6
HEPKE:V 2,000{(m3) 3 1.29 36 49
At 2(Costa): Qp 37.37|(m3/s)  |Qp=325(H-V)** 4 0.42 36 40
TEEE:A 0.1050 [km2 5 0.14 35 3.6
HIKETE: A2 0.0016|km2 6 0.04 34 35
r=a/(t"+b) 7 0.01 34 34
AR E AT KR 8 0.00 33 3.3
EREE RN 0.975 9 0.00 33 3.3
EREERa 14427 .64 10 0.00 32 3.2
BEREERD 61.45 11 0.00 3.1 3.1

F-2Tri-r2hoh & 12 0.00 31 31

PR E B ERF At 28| 4> BN D ESRYIR
LAF 13 0.00 3.0 3.0
REEERF:tc 28(% f&%@?&%ﬁ%@o 1 000 30 30
YU 15 0.00 2.9 2.9
B R R R DB AR 165.4|(mm/h) 16 0.00 2.8 2.8
BKREE—Y:Q 3.8|(m3/s) |1/3.6-f-r-A 17 0.00 28 2.8
RETHEKIREN 20 4.56|(m3/s) 18 0.00 2.7 2.7
19 0.00 2.6 2.6
20 0.00 2.6 2.6
39 o A VOO " “‘ R

) 2
I

Ce g
'gl_l E BUETA Y

o || RiEFE 0. 105kg?

it

=if .

ke ~T.600m2

F-1 RHEGRBIERE RS ERC

THiDHRRE C | ®fi(km2) i &
pat:o¥iich 70 0.0016 AR AR 7o M i | P33
(Lot 290 | 0.0847
KH 100 0.0187
M 200
E 70
‘it 0.1050
Taf I 253
IR RE f i L
Pat;akiii! 1.00 0.0016 AFHRS T2 MR ) P33
(L 0.80 0.0847
KH 0.75 0.0187
Bk 0.53 | 0.0000
£ 0.85 [ 0.0000
‘it 0.1050
Taf I 0.79

F&-2 HOKEERR]

REOTEREl GAWGRE |(HVMEFRE s | FOKEIEER] _
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 28.0 165.4 130.67 0.182 28.04 165.4 0.0
2 281 165.3 130.59 0.182 28.04 165.4 -0.1
3 28.2 165.1 130.43 0.182 28.04 165.4 -0.3
4 28.3 164.9 130.27 0.182 28.04 165.4 -0.5
5 284 164.8 130.19 0.182 28.04 165.4 -0.6
6 285 164.6 130.03 0.182 28.04 165.4 -0.8
7 28.6 164.4 129.88 0.182 28.04 165.4 -1.0
8 28.7 164.2 129.72 0.182 28.04 165.4 -1.2
9 28.8 1641 129.64 0.182 28.04 165.4 -1.3
10 28.9 163.9 129.48 0.182 28.04 165.4 -1.5
11 29.0 163.7 129.32 0.182 28.04 165.4 -1.7
®-3 HKRE-AIAEHE
t r In Q
(min) (mm/h) nr (mm/h) (m3/s)
1 28.0 165.4 165.4 165.4 3.8
2 56.0 128.7 257.4 92.0 2.1
3 84.0 105.6 316.8 594 1.4
4 112.0 89.6 358.4 41.6 1.0
5 140.0 71.9 389.5 311 0.7
6 168.0 68.9 4134 239 0.6
7 196.0 61.9 4333 19.9 0.5







=t a Tt &=
R KL FWL (m)
HlS EL (m)
Tz K% : H=FWL-EL 1.7|(m) TR
HEPKE:V 3,600[{(m3) 2,100m2 X 1.7m
BAFH E(Costa): Qp 38.22|(m3/s)  |Qp=325(H-V)"*2
TEEE:A 0.1890[km2
HIKETE: A2 0.0021|km2 X L Et3H
r=a/(t"+b)
AR E AT KR
EREER N 0.975
EREERa 14427.64
BEREERD 61.45
F-2Tri-r2hoh &
PR E B ERF At 33|% HIZIENBESEYER
LAA
FR-2Dr1-r2MAEH0
REEERF:tc 335 LB EEHRER
HUIVIET
B ERBAOMEREE r 157.4{(mm/h)
HAKFEE—Y:Q 6.6{(m3/s) [1/3.6f-r-A
REHEKGREN.2Q 7.92{(m3/s)

BFfE | REBEREZ[BKRE|CEXNRTRE
(min)  [Q1(m3/s)] Q2(m3/s)|Q1+Q2(m3/s)
0 38.22 6.6 448
1 20.21 6.5 26.7
2 10.69 6.4 17.1
3 5.65 6.3 12.0
4 2.99 6.2 9.2
5 1.58 6.1 1.7
6 0.84 6.0 6.9
7 0.44 59 6.4
8 0.23 58 6.1
9 0.12 57 58
10 0.07 5.6 5.7
11 0.03 55 5.6
12 0.02 54 55
13 0.01 53 5.3
14 0.01 52 5.3
15 0.00 5.1 5.1
16 0.00 50 5.0
17 0.00 50 5.0
18 0.00 4.9 4.9
0.00 438 48

0.00 4.7 4.7

v

R-1 REREIETRISFIEERC

- HhoDIRTE C | dfilkm2) " &
Pat;akiii! 70 0.0021 AR AR 7o M i | P33
L1t 290 | 0.1629
K H 100 0.0240
B 200
EHh 70
‘it 0.1890
i 263
R HE f [l i %
JitoXii 1.00 [ 0.0021 AXFHEEF T2 MR i 1 P33
(it 0.80 | 0.1629
K H 0.75 | 0.0240
Bt 0.53 | 0.0000
Eh 0.85 | 0.0000
‘it 0.1890
i 0.80
F-2 HKEERME
REOTEREl GAWGRE |(HVMEFRE s | FOKEIEER] ~
(%) ri(mm/h) re=f-r,(mm/h) re tc(min) 2 e
1 33.0 157.4 125.92 0.184 33.54 156.5 0.9
2 331 157.2 125.76 0.184 33.54 156.5 0.7
3 33.2 1571 125.68 0.184 33.54 156.5 0.6
4 333 156.9 125.52 0.184 33.54 156.5 04
5 334 156.7 125.36 0.184 33.54 156.5 0.2
6 335 156.6 125.28 0.184 33.54 156.5 0.1
7 33.6 156.4 125.12 0.184 33.54 156.5 -0.1
8 33.7 156.3 125.04 0.185 33.72 156.3 0.0
9 338 156.1 124.88 0.185 33.72 156.3 -0.2
10 33.9 156.0 124.80 0.185 33.72 156.3 -0.3
11 340 155.8 124.64 0.185 33.72 156.3 -0.5
®-3 HKRE-AIAEHE
t r In Q
" (min (mm/h) mr (mm/h) | (m3/s)
1 33.0 157.4 157.4 157.4 6.6
2 66.0 1193 238.6 81.2 34
3 99.0 96.4 289.2 50.6 2.1
4 132.0 80.9 323.6 344 1.4
5 165.0 69.8 3490 254 1.1
6 198.0 61.4 368.4 19.4 0.8
7 2310 548 383.6 15.2 0.6
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